1 1 2 7 =5 13
1 -3 0 —-6] Lu—-Li-L |1 -3 0 -6
4 Dy 9 1 o B 0 2 -1 2 __13 :; 122
1 4 -7 6 o 7 =7 12
Ci —C1+2Co
C3 - C3+2C2 -3 -5 3 -3 3
= —110 -1 0|=-1-(-1) 7 9
-7 =7 =2
) -1 1
=—1-(=1)-3-( 1)|7 2| 27
2 1 -1 1] Q282210 1 0 0 s o
2) 1 6 2 3| CGi—=Ci-C |11 6 8 —9__1 5 _9 3
3 -1 -1 2 N 5 -1 -2 3| 44 4
2 3 1 -1 -4 3 4 —4
Cy — Ca +Cy
-11 8 =9 03:03‘:01 -11 -3 2
=—1-(—-4)| 5 —2 = 41 5 3 -2
1 -1 1 1 0 0
-3 2 ) -1 1]
S IR g
-1 =1 1 0] ¢, 5¢c,4¢, |00 1 0
2 1 1 3 m-oGio |32 1 3 3223 323
3)0 1 1 2 = 1212:11 20=1-211 2 2
r) ()
1 3 -1 2 0 2 —1 2 Vo2 0 11
C3*>C37C2 3 2 1 1 2
= 211 20 :2-10 1 =2
010

Opérations sur les matrices

4.14 : corrigé



